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2 54.(b) Pat and Chris can paint the house in 5 hours if they work together. Patisa
professional painter and can paint twice as fast as Chris. How long would it
take Pat to paint the house by himself?

2 55.(a) Sketch two possible graphs that are different, yet are both cubic functions

with negative leading coefficients and nagative yintercepts. Explain why the

w graphs you have sketched are different.
Graph 1: Graph 2:

1 has Fhree Y-ereph.
dph @ has .
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4 55.(b} Given the function f(x)=2x" +5x*—3x—4 , complete the table to describe its

characteristics.

(3) (i}
yintercept

-4

end behaviour
N (left and right) I ‘a I

Max # of possible
x—inter&epts

3

(1) (i) Explain why the graph of this function is not a parabola.

Dcang s 3 a Parada is

tzl\s-_gg#uqugdwks}_l\_iq-_vt_

3 56.(a) Algebraically solve for x: J3 =274

3&=

vk~ g~

)
- 1%

|
=-S5

"

plo

o4

X x

(3)
%E \sl.lu-n

i-_' 1Iax+3

-3 = 13x
_b = ax
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4 56.(b) Nora is about to invest $500 gunt that pays.ﬁwerest a year
compeunded monthly for the ne 4@" A different financial institution
offers 6 ompoundedSan ally for the next 3 years.
Write a function that models the growth of Nura s investment for each
situation. Should Nora invest her money in this financial institution instead?
Explain why or why not.

Nora
: = 5000( 1 + ng_-.“ a swo(| + 0
=soo0(1Loos)”  =swo. otas)*

= 59¢3.90 054 ™
more inkrest

4 57.(a) Algebraically solve for x: 5l_g"l =0

095"~ fog®™"
x-1(log3) — x+1 (hg8)=0
0.69%90 (x-1) — 0.9031(x4)=D -
- Ix ~0,0
o.m@-omeo lo’.'to'.% X
— 0.204X ~ \.wbl =0

~0-a04x= 1-b0al
X -9
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3 57.(b) The pH scale is used to measure the acidity of a solution. The pH, p(x), is
defined by the equation p(x)=—log x, where the concentration of hydrogen
ions, x, in a solution is measured in moles per litre (mol/L).

(1) (i} Black coffee has a pH of 5, What is its hydrogen ion concentration?

5= —logx 10 =X
-5 = lggX

2 (i) Baking soda has a pH of 9. In terms of concentration, how much more
acidic is black coffee than baking soda?
§ _s-(=

9 = -log¥ 0 -0

4 i Determine the amplitude, period, equatiar-atmidline and the range.
amp = 2 0 {Dus)s',ré
midlde S Y=-1
peried » 120°

2) (ii) Use the information from part (i) to determine a function that
represents the graph in the form y =acosb(x)+d.

:éa\, Y= Qeos 3(0) ~ |
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3 59.  Pat borrowed $2500 at a rate of ﬁ# compounded maonthly for 3 years. How
much interest will Pat be charged for borrowing theg money?

)}
2500 (\ + Qag)ms
asoo( (.00 H)"’

. ! c
=3 17 q = ‘\kf“‘\

anasr-gs0= W1%% ‘G
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